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Practice 4D: Chapter 10, pages 12-14

Compute each product. Give your answer in simplest form.

%x7= %x3=

1x8= 11x3=
4x%= 16x%=
L x3= %xS:
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Practice 4D: Chapter 10, pages 12-14

Compute each product. Give your answer in simplest form.

14><7_ 5><9
4 _ 15 _
gxﬁ_ —4><12
7 _ 10 =
15X§— 11)(16

2 — = =
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Practice 4D: Chapter 10, page 15-16

Fill in the blank in each equation below with the correct number in simplest form.

5is of 15. 14 is of 18.
is % of 22. 81is of 18.
46 is of 49. is = of 40.
10
. 2 .
|s§of 24, 15is of 105.




Ma/f/‘p/y/ng FIQ‘QCZ(/‘O/?\S www.BeastAcademy.com @

Practice 4D: Chapter 10, page 15-16

Fill in the blank in each equation below with the correct number in simplest form.

x17=19 %x16=
9x =11 x12=13
%x13= 24 x =15
27 x =12 :30><%
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Practice 4D: Chapter 10, page 12-16

3,7_21_41
x7—§-4
1 —8_43
><8—5 15

4x%:%:6 or 4><E_—x3 2x3=6
1 _7

7 n 21_7 7 B _ 5 1 _
33 %3=33717 O 3 X3 7"33 IX97=1
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6><3—6—2 22 or 6><3 5><6 5><2 > 2

1
2
3_33_g1
11XZ—4—84
16x2=48=-6 or 16x3=12x3=2x3=6
8 8 8

5 X8 = 5 195

14><4 56 -8 or14><— 14><4 Ox4=8

15><7 ‘°5 =35 or15><Z ><7=5><7:35

3 _210
70xﬁ ET) =21 or 70xﬁ 10><3 7x3=21

5is@of15. 14|sof18
-IS of 22. 81 isof18.
46 is |32 | of 49. [12]is 2 of 40.
[16]is 2 of 24. 15|sof105.
11x17=19 5x16=[20]
9x| /=11 2x12=13
Bx13=[33] 24><:15
27><=12 [14]=30x%



